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Consider the homogenous system  AX =  O  (where  O  is a 2X 1  zero-column).  Since Rank(A) = 2, the system will have two leading variable and one free variable.  Thus the solution set  of the homogeneous system, call it  F, we have  F = span{one non-zero point in  R^3} and  it has independent number  1  (i.e., it has dimension 1).  Now  from the hypothesis  the points  Q =(1,4, 2) and W = (-3, -12, 7)  "live" in D.  Since IN(F) = 1, Q and W  must be dependent. However, if we check..they are INDEPENDENT (impossible). Hence such matrix  does not exist 

abadawi
Text Box
3

abadawi
Text Box
, 1) 

abadawi
Text Box
+ a_0(1)}




